>
A & 0l & AF 2 E A A
2013HE 20 AWHN STHHD ~ STHH
SN SEHMI
HE: SCHESS
Sel SEYRALE (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SCFMN 5,908,479 7,117,850 A 1,209,371
= 1,840,000
< 4,068,479
=EgESS 5,823,879 7,046,950 A 1,223,071
= 1,840,000
< 3,983,879
s RrddsE 5,823,879 7,046,950 A 1,223,071
= 1,840,000
< 3,983,879
SEAFYUAX A 12,000 12,000 0
308 XtXIEHHSOIA 12,000 12,000 0
01 HXNHHBHELS 12,000 12,000 0
O=SZHFEI2IX A 12,000
=ECeFU=A2Y 121,429 127,500 A6,071
= 100,000
< 21,429
308 XX EHSOIA 121,429 127,500 26,071
= 100,000
< 21,429
01 HIXNHMBNEES 121,429 127,500 A6,071
SEFUSARINE 121,429
= 100,000
< 21,429
S d2I N 850,000 1,275,000 A 425,000
= 700,000
< 150,000
308 XXM SOIA 850,000 1,275,000 A 425,000
= 700,000
< 150,000
01 AXHHBILEES 850,000 1,275,000 A 425,000
O=sc2e|d23 X3 850,000
= 700,000
S 150,000
ogE=EJlga=2d 585,000 375,000 210,000
= 390,000
< 195,000
308 MtXIEHSOIH 585,000 375,000 210,000
= 390,000
< 195,000
01 HXNHHBHELS 585,000 375,000 210,000
pere=lg22d X 585,000
= 390,000
< 195,000
=ECEEMY 847,450 597,450 250,000
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